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QUESTION 1

Which of the following statements regarding IP address 224.0.0.1 are correct?
A. It represents all the hosts and routers.

B. It represents all the routers.

C. Itis a private IP address.

D. Itis a multicast IP address.

Correct Answer: A

QUESTION 2

The Ethernet switch working in store and forward mode drops the frame with length smaller than 64 bytes.
A. True

B. False

Correct Answer: A

QUESTION 3

Which of the BGP attributes is Optional transitive attribute?
A. AS_PATH

B. MED

C. NEXT_HOP

D. ORIGIN

E. LOCAL_PREF

F. COMMUNITY

Correct Answer: F

QUESTION 4
Affinity attributes is link attributes in MPLS TE, it is configured under physical interface.
A. True

B. False
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Correct Answer: A

QUESTION 5

Which of the following MPLS TE components is used to set up tunnel?
A. Path calculation

B. Information distribution

C. Packet forwarding

D. Signaling

Correct Answer: B

QUESTION 6

Which of the statements about BGP UPDATE message are correct?

A. One UPDATE message can advertise multiple routes at one time, but the path attributes must be the same.
B. One UPDATE message can include multiple unreachable routes.

C. One UPDATE message can advertise multiple routes at one time, and the path attributes can be different.
D. BGP uses Update message to implement routing information updating.

Correct Answer: ABD

QUESTION 7

Which of the following statements regarding the description of MPLS are correct?
A. Egress LER forwards packets based on IP routing table.

B. Core LSR forwards packets based on label.

C. Ingress LER forwards packets based on label.

D. Core LSR forwards packets based on IP routing table.

Correct Answer: AB

QUESTION 8
Which of the following statements about LAN switch is correct?

A. LAN switch is transparent for user, it does not modify the data field of the forwarded frame.
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B. LAN switch can still operate normally even when loop exists.

C. LAN switch can detect loop according to the contents of the packet.

D. LAN switch can modify the data field of the forwarded frame when necessary.

Correct Answer: C

QUESTION 9

How does MPLS BGP VPN handle the problem of address overlapping of different VPN sites?

A. To use different routing protocols In the backbone network for afferent VPN.

B. To maintain separate VRF lor different VPN.
C. To allocate unigue RT for each VPN.

D. To allocate different LSP for each VPN.

E. To allocate unique RD for each VPN.

Correct Answer: A

QUESTION 10

LDP uses Initialization message to negotiate LDP parameters with the peer.
A. True

B. False

Correct Answer: A
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